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Sticky Note
We need 4n equations

From the first condition we can find (n+1) equation 
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Question 1 (5+35 points).
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Q) (15 points] Given the data: ; ":52" with f(0) = 2 and f(2) =3

Set up the equations for the clamped cubic spline that interpolates these data. \
(Do not solve the equations)
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Sara Totah
Sticky Note
Interpolation
(x0,y0), ... , (xn,yn)
Pn(xi) = yi = f(xi)
gi(xi) = yi
Passes through all the given points
yi = fi(x)


Sara Totah
Sticky Note
Curve fitting
1. not ness.. poly.
2. no need to pass through the points
3. (x1,y1), ... , (xn,yn)
yi is an approximation of f(xi)
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B4

{ Q#2 (12points)Consider the daia {1.1,0.4238),(1.2, 1.003), (1.3,1.662)

2- Using the above data, Find the best fit of the form F(x) = Ax® + Bcosx Using Linearization.

5- Find the Normal equations when estimating the a2bove data using a function of the form
f(x) = Ax5 + Beosx
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Q3) [20 points] Consider the points (1, —2), (2.5, —1.6), (4, 0).

(a) Find the normal equations of the least-square curve of the form y = AR L) + Bz C
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(b) Use linearization to find the fitling curve of the form y =
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